



$x+y$ IS THE DIAGONAL OF THE PARALLELOGRAM DETERMINED BY x AND y

37) $x = \begin{bmatrix} 1 \\ 2 \end{bmatrix}, y = \begin{bmatrix} 3 \\ 1 \end{bmatrix}$ so $x+y = \begin{bmatrix} 4 \\ 3 \end{bmatrix}$:

37) $A = \begin{bmatrix} 0 & -1 \\ 1 & 0 \end{bmatrix} = \begin{bmatrix} \cos \frac{\pi}{2} & -\sin \frac{\pi}{2} \\ \sin \frac{\pi}{2} & \cos \frac{\pi}{2} \end{bmatrix}$, so A CORRESPONDS TO A ROTATION OF $\theta = \frac{\pi}{2}$.

40) $A = \begin{bmatrix} \frac{\sqrt{2}}{2} & -\frac{\sqrt{2}}{2} \\ \frac{\sqrt{2}}{2} & \frac{\sqrt{2}}{2} \end{bmatrix} = \begin{bmatrix} \cos \frac{\pi}{4} & -\sin \frac{\pi}{4} \\ \sin \frac{\pi}{4} & \cos \frac{\pi}{4} \end{bmatrix}$, so A CORRESPONDS TO A ROTATION OF $\theta = \frac{\pi}{4}$.

41) $A \begin{bmatrix} -1 \\ 2 \end{bmatrix} = \begin{bmatrix} \cos \frac{\pi}{6} & -\sin \frac{\pi}{6} \\ \sin \frac{\pi}{6} & \cos \frac{\pi}{6} \end{bmatrix} \begin{bmatrix} -1 \\ 2 \end{bmatrix} = \begin{bmatrix} \frac{\sqrt{3}}{2} & -\frac{1}{2} \\ \frac{1}{2} & \frac{\sqrt{3}}{2} \end{bmatrix} \begin{bmatrix} -1 \\ 2 \end{bmatrix} = \begin{bmatrix} -\frac{\sqrt{3}}{2} - 1 \\ -\frac{1}{2} + \sqrt{3} \end{bmatrix}$

42) $A \begin{bmatrix} 4 \\ -1 \end{bmatrix} = \begin{bmatrix} \cos \frac{\pi}{3} & -\sin \frac{\pi}{3} \\ \sin \frac{\pi}{3} & \cos \frac{\pi}{3} \end{bmatrix} \begin{bmatrix} 4 \\ -1 \end{bmatrix} = \begin{bmatrix} \frac{1}{2} & -\frac{\sqrt{3}}{2} \\ \frac{\sqrt{3}}{2} & \frac{1}{2} \end{bmatrix} \begin{bmatrix} 4 \\ -1 \end{bmatrix} = \begin{bmatrix} 2 + \frac{\sqrt{3}}{2} \\ 2\sqrt{3} - \frac{1}{2} \end{bmatrix}$

45) $A = \begin{bmatrix} \cos(-\frac{\pi}{4}) & -\sin(-\frac{\pi}{4}) \\ \sin(-\frac{\pi}{4}) & \cos(-\frac{\pi}{4}) \end{bmatrix} = \begin{bmatrix} \cos \frac{\pi}{4} & \sin \frac{\pi}{4} \\ -\sin \frac{\pi}{4} & \cos \frac{\pi}{4} \end{bmatrix} = \begin{bmatrix} \frac{\sqrt{2}}{2} & \frac{\sqrt{2}}{2} \\ -\frac{\sqrt{2}}{2} & \frac{\sqrt{2}}{2} \end{bmatrix}$, so $A \begin{bmatrix} 2 \\ 1 \end{bmatrix} = \begin{bmatrix} \frac{3\sqrt{2}}{2} \\ -\frac{\sqrt{2}}{2} \end{bmatrix}$

46) $A = \begin{bmatrix} \cos(-\frac{\pi}{3}) & -\sin(-\frac{\pi}{3}) \\ \sin(-\frac{\pi}{3}) & \cos(-\frac{\pi}{3}) \end{bmatrix} = \begin{bmatrix} \cos \frac{\pi}{3} & \sin \frac{\pi}{3} \\ -\sin \frac{\pi}{3} & \cos \frac{\pi}{3} \end{bmatrix} = \begin{bmatrix} \frac{1}{2} & \frac{\sqrt{3}}{2} \\ -\frac{\sqrt{3}}{2} & \frac{1}{2} \end{bmatrix}$, so $A \begin{bmatrix} 1 \\ -2 \end{bmatrix} = \begin{bmatrix} \frac{1}{2} - \sqrt{3} \\ -\frac{\sqrt{3}}{2} - 1 \end{bmatrix}$

49) $A = \begin{bmatrix} 2 & 3 \\ 0 & -1 \end{bmatrix}$ $\det(A - \lambda I) = \begin{vmatrix} 2-\lambda & 3 \\ 0 & -1-\lambda \end{vmatrix} = (2-\lambda)(-1-\lambda) - 0 = (\lambda-2)(\lambda+1) = 0$
 IF $\lambda = 2$ OR $\lambda = -1$

$\lambda = 2$: $(A - 2I)x = 0$ gives $\begin{bmatrix} 0 & 3 & 0 \\ 0 & -3 & 0 \end{bmatrix} \rightarrow \begin{matrix} x & y \\ \begin{bmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \end{bmatrix} \end{matrix}$ LET $x = t$, so $x = t, y = 0$

$\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} t \\ 0 \end{bmatrix} = t \begin{bmatrix} 1 \\ 0 \end{bmatrix}$, so $\begin{bmatrix} 1 \\ 0 \end{bmatrix}$ IS AN EIGENVECTOR CORRESP. TO $\lambda = 2$

$\lambda = -1$: $(A - (-1)I)x = 0$ gives $\begin{bmatrix} 3 & 3 & 0 \\ 0 & 0 & 0 \end{bmatrix} \rightarrow \begin{matrix} x & y \\ \begin{bmatrix} 0 & 1 & 0 \\ 0 & 0 & 0 \end{bmatrix} \end{matrix}$ LET $y = t$, so $x = -t, y = t$

$\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} -t \\ t \end{bmatrix} = t \begin{bmatrix} -1 \\ 1 \end{bmatrix}$, so $\begin{bmatrix} -1 \\ 1 \end{bmatrix}$ IS AN EIGENVECTOR CORRESP. TO $\lambda = -1$

REMARK: SINCE A IS AN UPPER TRIANGULAR MATRIX, ITS EIGENVALUES ARE THE ENTRIES ON THE MAIN DIAGONAL.

CHECK: $A \begin{bmatrix} 1 \\ 0 \end{bmatrix} = \begin{bmatrix} 2 & 3 \\ 0 & -1 \end{bmatrix} \begin{bmatrix} 1 \\ 0 \end{bmatrix} = \begin{bmatrix} 2 \\ 0 \end{bmatrix} = 2 \begin{bmatrix} 1 \\ 0 \end{bmatrix}$ AND

$A \begin{bmatrix} -1 \\ 1 \end{bmatrix} = \begin{bmatrix} 2 & 3 \\ 0 & -1 \end{bmatrix} \begin{bmatrix} -1 \\ 1 \end{bmatrix} = \begin{bmatrix} -1 \\ -1 \end{bmatrix} = -1 \begin{bmatrix} -1 \\ 1 \end{bmatrix}$

$$(53) \quad A = \begin{bmatrix} -4 & 2 \\ -3 & 1 \end{bmatrix}$$

$$\det(A - \lambda I) = \begin{vmatrix} -4-\lambda & 2 \\ -3 & 1-\lambda \end{vmatrix} = (-4-\lambda)(1-\lambda) - (-6) = \lambda^2 + 3\lambda + 2 = (\lambda+2)(\lambda+1) = 0$$

IF $\lambda = -2$ OR $\lambda = -1$

$$\underline{\lambda = -2}: \quad (A - (-2)I)x = 0 \quad \text{Gives} \quad \begin{bmatrix} -2 & 2 & 0 \\ -3 & 3 & 0 \end{bmatrix} \rightarrow \begin{matrix} x & y \\ \textcircled{1} & -1 & 0 \\ 0 & 0 & 0 \end{matrix} \quad \text{LET } \underline{y = t}, \text{ so } \begin{matrix} x = t \\ y = t \end{matrix}$$

$$\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} t \\ t \end{bmatrix} = t \begin{bmatrix} 1 \\ 1 \end{bmatrix}, \quad \text{so } \begin{bmatrix} 1 \\ 1 \end{bmatrix} \text{ is AN EIGENVECTOR CORRESP. TO } \lambda = -2.$$

$$\underline{\lambda = -1}: \quad (A - (-1)I)x = 0 \quad \text{Gives} \quad \begin{bmatrix} -3 & 2 & 0 \\ -3 & 2 & 0 \end{bmatrix} \rightarrow \begin{matrix} x & y \\ \textcircled{1} & -2/3 & 0 \\ 0 & 0 & 0 \end{matrix} \quad \text{LET } \underline{y = 3t}, \text{ so } \begin{matrix} x = 2t \\ y = 3t \end{matrix}$$

$$\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} 2t \\ 3t \end{bmatrix} = t \begin{bmatrix} 2 \\ 3 \end{bmatrix}, \quad \text{so } \begin{bmatrix} 2 \\ 3 \end{bmatrix} \text{ is AN EIGENVECTOR CORRESP. TO } \lambda = -1.$$

$$(57) \quad A = \begin{bmatrix} 3 & 6 \\ -1 & -4 \end{bmatrix}$$

$$\det(A - \lambda I) = \begin{vmatrix} 3-\lambda & 6 \\ -1 & -4-\lambda \end{vmatrix} = (3-\lambda)(-4-\lambda) - (-6) = \lambda^2 + \lambda - 6 = (\lambda+3)(\lambda-2) = 0$$

IF $\lambda = -3$ OR $\lambda = 2$

$$\underline{\lambda = -3}: \quad (A - (-3)I)x = 0 \quad \text{Gives} \quad \begin{bmatrix} 6 & 6 & 0 \\ -1 & -1 & 0 \end{bmatrix} \rightarrow \begin{matrix} x & y \\ \textcircled{1} & 1 & 0 \\ 0 & 0 & 0 \end{matrix} \quad \text{LET } \underline{y = t}, \text{ so } \begin{matrix} x = -t \\ y = t \end{matrix}$$

$$\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} -t \\ t \end{bmatrix} = t \begin{bmatrix} -1 \\ 1 \end{bmatrix}, \quad \text{so } \begin{bmatrix} -1 \\ 1 \end{bmatrix} \text{ is AN EIGENVECTOR CORRESP. TO } \lambda = -3$$

$$\underline{\lambda = 2}: \quad (A - 2I)x = 0 \quad \text{Gives} \quad \begin{bmatrix} 1 & 6 & 0 \\ -1 & -6 & 0 \end{bmatrix} \rightarrow \begin{matrix} x & y \\ \textcircled{1} & 6 & 0 \\ 0 & 0 & 0 \end{matrix} \quad \text{LET } \underline{y = t}, \text{ so } \begin{matrix} x = -6t \\ y = t \end{matrix}$$

$$\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} -6t \\ t \end{bmatrix} = t \begin{bmatrix} -6 \\ 1 \end{bmatrix}, \quad \text{so } \begin{bmatrix} -6 \\ 1 \end{bmatrix} \text{ is AN EIGENVECTOR CORRESP. TO } \lambda = 2$$

$$(59) \quad A = \begin{bmatrix} 2 & 1 \\ 2 & 3 \end{bmatrix}$$

$$\det(A - \lambda I) = \begin{vmatrix} 2-\lambda & 1 \\ 2 & 3-\lambda \end{vmatrix} = (2-\lambda)(3-\lambda) - 2 = \lambda^2 - 5\lambda + 4 = (\lambda-4)(\lambda-1) = 0 \quad \text{IF } \lambda = 4 \text{ OR } \lambda = 1$$

$$\underline{\lambda = 4}: \quad (A - 4I)x = 0 \quad \text{Gives} \quad \begin{bmatrix} -2 & 1 & 0 \\ 2 & -1 & 0 \end{bmatrix} \rightarrow \begin{matrix} x & y \\ \textcircled{1} & -1/2 & 0 \\ 0 & 0 & 0 \end{matrix} \quad \text{LET } \underline{y = 2t}, \text{ so } \begin{matrix} x = t \\ y = 2t \end{matrix}$$

$$\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} t \\ 2t \end{bmatrix} = t \begin{bmatrix} 1 \\ 2 \end{bmatrix}, \quad \text{so } \begin{bmatrix} 1 \\ 2 \end{bmatrix} \text{ is AN EIGENVECTOR CORRESP. TO } \lambda = 4$$

$$\underline{\lambda = 1}: \quad (A - I)x = 0 \quad \text{Gives} \quad \begin{bmatrix} 1 & 1 & 0 \\ 2 & 2 & 0 \end{bmatrix} \rightarrow \begin{matrix} x & y \\ \textcircled{1} & 1 & 0 \\ 0 & 0 & 0 \end{matrix} \quad \text{LET } \underline{y = t}, \text{ so } \begin{matrix} x = -t \\ y = t \end{matrix}$$

$$\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} -t \\ t \end{bmatrix} = t \begin{bmatrix} -1 \\ 1 \end{bmatrix}, \quad \text{so } \begin{bmatrix} -1 \\ 1 \end{bmatrix} \text{ is AN EIGENVECTOR CORRESP. TO } \lambda = 1$$

REMARK NOTICE THAT ANOTHER WAY TO FIND THE EIGENVALUES FOR A 2×2 MATRIX IS TO USE THE EQUATION $\lambda^2 - \text{tr}(A)\lambda + \det(A) = 0$.